| COMPETITION/PLUS

FOUR SPEED FLOOR SHIFT

3RD. GEAR STOP
BOLT - SIMILAR
BOLT AT FRONT
OF SHIFTER IS
"4TH GEAR STOP

DO NOT DIS-ASSEMBLE
SHIFTER UNIT

VO NOT REMOVE

TRANSMISSION
CONTENTS OF KIT SUE IS 238 4077 4 j
1. Mounting Plate 1956348
2. 3/8 - 16 x 1 Flat Head Socket Screw (3)
3. 716 - 14 x 3 Bott
4. 716" Split Lockwasher
5. 7118” Fiat Washer ;
6. 3/8 - 16 x 3 Bolt sTick
7. 3/8” Internal Tooth Lockwasher ;
8. Stick  Bolt On 238 4084
2916550 2384077 —
2916551 2384078
2916558 2384084
9. 3/8” Split Lockwasher {2)
10. 3/8 - 16 x 7/8 Bolt 3]
1. Arm 1st/2nd 1053834
12. Rod 1st/2nd 2134164
13. Nylon Bushing 1181681 (6)
14. Spring Clip 1272412 (6)
15. Arm 3rd/4th 1053831
16. Rod 3rd/ath 2133880
17. Arm Reverse Early 1052445
Late 1053667 NOTE
18. Rod  Reverse 2133189 S:d( po Pt.hzsg ;zfs:l is
1. Bod Adusing Buton nesTse ) s e s o
20. Stiffener Plate 1955271 not offset.
21. Spacer Plate 1954319 i i
2. Bagged Hardware 1544088 3
ALIGNING SHIFTER LEVERS HURST COMPETITION PLUS® FLOOR SHIFT
8700 Brookpark Road, Cleveland, Ohio 44129-6899 WITH EDGES OF SHIFTER FRAME CHRYSLER NEW PROCESS FOUR SPEED TRAN.  JION




